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Write your eleven digit Register Number on the Question Booklet as |© 23‘1:
allotted in the admission ticket in the space provided at the top right : @o‘l
corner of this front page. & G]]g’):
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This Question Booklet has been sealed by reverse jacket. You have to cut
on the right side to open the. Booklet at the time of commencement of
the examination. Check whether all the pages of the Question Booklet
are intact.

3. QAWCDZTO OMR 3"9)&53&2{ @% BN QeTTONIR)TO.
OMR Sheet will be provided subject-wise separately.

4. B @%@@%om TRTO BRET* @ﬁoﬁamf@{ ﬁraofbm’%, T,& WP @égeﬁmd
T FODR, BRODT.

This set of Question Booklets consists of three core subjects and each
subject has separate Question Booklet.
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83-K/E (NSR / NSPR) (UNREVISED)

5.

B8 QRADF 40 BINIR, B BIBHFOIO k1), 120 TF e, HR0RT.
() rieds - B Hoas, 1 003 40

(i) DPS - BIRY Fosy, 41 00T 80
(i) =FRE PN - TJ NS Boas, 81 00T 120
g Y S

40 questions are provided against each subject. This set of Question
Booklets contains 120 questions in all.

(i) Mathematics — Question Numbers 1 to 40

(i) Science — Question Numbers 41 to 80

(iii) Social Science — Question Numbers 81 to 120

Byde BFN WO BOBITW), R, BINYNR IO WO TN &8
TO03NT emgdés 20T @06&355%, émwcs emgdﬁé oInRm)Te ajam%s 90BN
QUORDY,

Each question carries one mark. Answering all the questions is
compulsory and each correct answer will be awarded one mark. There will
be no negative marking for wrong answers.

TOeF BB/HODY,

eD) @%ﬁ@ﬁg{mﬁd@ﬁo&aod 2.00.

W) 2.00.850°. ( OMR ) RBTY, HE B3Foadnt I0 TROTT LZTHTY
NOTOETLD QCTSONTIE SDASH ofggmf e%% ROCIRT LVZTT 20T %gw:%
QeD/TF) TP RS TIOWOEF T WNT, GVTOIRENR FOFREIF N
Jew® [RW. W) YUITIIY, Jew TRRT [0S WHLRCWHLD BTFTIIN),
0B C3RRTe @571325 713633371%352{ 20.290.630°. ( OMR ) R0¢&3 SRELIDTTO.
VPTOR  ByF "o, 1 208 LUETT ©0d) Fods C BNTY, L..20.8T .
(OMR ) RRBY, ©03) C 0 e/ T ToCD G’ TR0 T
VTO3RCNR B3 TSR SReOATIOZ 3,33, FOTREDF N e WL
T3 Foad : 20) @ © O (9B NSTHR =NE))

=%
O O @ O
2)  2.0.650°. ( OMR ) TS0, WITROR)T, BOOIOR)E WF BT W
] %)
RNTLIVTTO.
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83-K/E (NSR / NSPR) (UNREVISED)

During the examination,
a) Read the questions carefully.

b) Completely darken / shade the relevant circle against Question
Number in the OMR Sheet using blue / black ball point pen. Do not

try to alter the entry and not to do any stray marks on OMR Sheet.

Example : In the question booklet, if C 1is the correct answer for

Question No. 20, then in the OMR Sheet shade the option C using

blue / black ball point pen as follows.

Question No. 20) @ @ @ ( This is an example only )
O O @ O

c) Do not fold, tear, wrinkle or staple on the OMR Sheet.

WO T3 N 203808 D), B INGT, 3T INRTY ©0TT LVITNTI) THOTD
£} S W 9> =l Q™ s = w

TOMEIR BOTNTIY, VEBLRMOPIL;

If more than one circle is shaded for a given question, such answer is

treated as wrong and no marks will be given.

%.20.60°. ( OMR ) PuTY, ANOT ZFTY, DT, HF Torie 3pBR [0ed25TTID

3@—-353@ D& TTLIEBD.

Student and Room Invigilator should sign in the OMR Sheet in the space

provided.
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83-K/E (NSR / NSPR) (UNREVISED)

10. TOegp WHR B|ONT TOTT QTEIITO GWFORT %.00.8T°. ( OMR )3 3RATR
B¢ 5TTON STWTIE LTI,

Candidate should return the subject-wise answered OMR Sheet to the

Room Invigilator before leaving the examination hall.

11. 35, F00FER), &, q@@%@@@e@&d 7259, T T TP 030¢ TBRTWIYHT.

Rough work can be done in the space provided at the end of the Question

Booklet.

12. TOegp BRBRAILYN TLOTEWT, [RY T TS, TEFF W WTY VI
CIRFTIC DSTYIF® LVTFTENTTY, FTORTIY, JRQBTINT.

Calculators, Mobiles, Smart Watches and any other electronic equipment

are not allowed inside the examination hall.
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42.

83-K/E (NSR / NSPR) (UNREVISED)
RO : a@wﬁ

Subject : SCIENCE
B2 T,30300T0 TINVR T OTPOF TeFNYR OO, SodNERy JeBTINT.

YN, FOOIRT YWZTHRY, B0 VTR VEBUINTOT 2:.90.65TF. ( OMR ) 03T
BE,8030Q R 7 TH) T2 LRGF ToA0L® BIPROT FOOIRT 5083080
et B 40 x 1 = 40

Four choices are given for each of the following questions / incomplete
statements. Choose the correct answer and shade the correct option in the
OMR Answer Sheet given to you with a black / blue ball point pen.

40 X 1 =40
QRINTE, 0T, T00OT SO 65653& nOTI8R

(A) =mRODE (B) 8 T %

(C) IFANFT WO (D) MY

The conventional source of energy in the following is

(A) Sun (B) Bio-waste

(C) Natural gas (D) Wind

20030 POBONT TWTRIVNEN 30@325 13 SN3. ST @wgrm@@—-gﬁcﬁ@q 35 o0

(A)  13e &BFE FedZI (B) 23e &&FE Fecd3TI

(C) 33e wBFE FeOITI (D) 43e &&FE FecOZTI

The atomic number of an element is 13. In the modern periodic table, this
element belongs to

(A) 1st period (B) 2nd period

(C) 3rd period (D) 4th period

5 of 24



83-K/E (NSR / NSPR) (UNREVISED)

43.

44.

45.

@aszsﬁﬁ%? THS 3,0300308) WRONTCITRNIE F,e8008) A

(A) TowFS' Fws & (B) BoWFD® Bemes =
(C) wdws (D) TR BRI
The major gas released by waste incineration is

(A) Carbon dioxide (B) Carbon monoxide

(C) Oxygen (D) Hydrogen chloride
SOV @53?@@@3’{1?%6 TOLORATIOZ BOOIRT TePF300TT

(A)  TOBONE TOBRETHE, Y SBTF TG, 00T ANTIOZ T ROITI

(B) o20Me ©03RAETTED JYOI B[AFT T LOTOT TeHITT

(C) TN Spedeodd Moy WNRFE IR TINTOS FREOINPNIZT

(D)  GOBONY LW THICNZOIN BBBF T, 20T FNTIOT FREO0TIMITT

The correct statement related to modern periodic table is

(A) the atomic size of elements increases across the period

(B) ionization energy of the elements increases down the group
(C) the metallic property of elements decreases down the group

(D) electropositivity of the elements decreases across the period

BINT 0N BTONNTY, TG, RO TN STOMBOTOI DT e FOWROTES ?

(A) TeBodee TONNED (B) 3oy ITONNL

(C) QedT STONNSL (D) T,TF0&03d TONRNRTO

In which of the following waves, the particles of the medium vibrate along
the direction of the propagation of waves ?

(A) Radio waves (B) Sound waves

(C) Water waves (D) Electromagnetic waves
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46.

47.

48.

83-K/E (NSR / NSPR) (UNREVISED)
TRLT BCFCDYTOT LFNN0
(A) 3R, 3T IV, LOEITOD, ©oRE
(B) Woondee3, 3T I9F, 3eowen,, e,—-’g)e,—-icw
(C) Woondee3, [OINEOE, N, 3T I93F

D) ©0®, YRTT, VREY, Zo8 598

o w
The parts that are present in carpel of a flower are
(A) Stigma, Style, Ovary, Ovule

(B) Anther, Style, Stigma, Petal

(C) Anther, Filament, Stigma, Style

(D) Owvule, Sepal, Petal, Style
xwws OB emcgD sloln{PRACNA @52{ eVTO3RENTOO FoTED 9T

(A) 2OTT STIAFRTT (B) 29T CWIAFRZS

(C) LTI YVOLITRTEITT (D) 2Bodped) i3m0, vV DANZT

Coke is used in the extraction of crystalline silicon, because it
(A) reduces silica (B) oxidises silica

(C) forms slag (D) produces zeolite

9,8 £030 0T, 8,0359FDOCITY ANBARTIOO BT0L WINTO 7833

(A) ToowT0d (B) ®,&p0T
(C)  eVTHABORT0 (D) QO30T 2 FTLONEO

The component that helps to shut off nuclear power reactor is
(A) moderator (B) reflector

(C) heat exchanger (D) control rods
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83-K/E (NSR / NSPR) (UNREVISED)

49. 30NTROTTE FoROWTIT MIIVFENT
(A) WOV WERDY, TORTO® DoFBRBFN, BRIDI0ST 0% @mﬁ
(B) Q0T WeRTISND, %@addq BERCBHOINTG TOPIRWIFNLD,  WoOWOR
SRRV SDR
(C) 2000 WERTY, BTRTOW TDFFRWF T, WOWOT To¥ T

(D) QT WeRTIN, 3,TFTTY, WRCTFROING JVERWF N, FBH™0ST
oY QT

The salient features seen in a coconut tree are
(A) single cotyledon, scattered vascular bundles, parallel venation

(B) two cotyledons, vascular bundles arranged in a ring, reticulate

venation
(C) single cotyledon, scattered vascular bundles, reticulate venation

(D) two cotyledons, vascular bundles arranged in a ring, parallel

venation

50. R, QORI IY T TORT Fa0IF
(A)  Tedp,cr® Sav) TREROZTT
(B) IR ATFTeDeodd WBOBODTY 3, ROFODTYN TOBSFAZT
(C) Tedp, e BB MY, FOOIRT &, [WIRETY, 03,69 BREITTS
(D) AR 83 AO0BT'S w91 BORITOT BRI

The function of crankshaft in petrol engine is that it

(A) ignites petrol

(B) converts the linear movement of the piston into circular motion
(C) mixes petrol and air in proper proportion

(D) makes the piston move into the cylinder
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52.

83-K/E (NSR / NSPR) (UNREVISED)

PP, ( Ethanal ) SQTO 3,03RM00F)

W
A —C—H (B)
() — OH (D)
The functional group in Ethanal is

O

I
A —C—H (B)
(€) —OH (D)

O
[

C —OH

H

—N—H

O
I

C — OH

H

—N—H
SN é@@a&ﬁd@{ Ne0R, FOOINT 2:3!@@65%053?&2{ nOTOER.

O LT FOODETEO
() | FoPYTT Beansd (2) | OTT TR)Meadss
(ii) | WPTT FeANTO (b) | B3RS Do

3T0BEINTL

(©)

2RC03 ebdx;aémcm@s

(iii)
@A) @ a
(B) () b,
€ @ c,
(D) (i) b,

(i) b, (iii)

0

(i) c, (i) a
(i) b, (i) a

(i) a, (i) c

Observe the following table and identify the correct pair :

Components of blood

Functions

(i)

Red blood cells

(2)

Clotting of blood

(1)

White blood cells

(b)

Oxygen supply

Platelets

()

Fight infection

(iii)
@A) @ a
(B) (i) b,
€ @@ c
(D) @ b,

(i) b, (iii)

]

(i) c, (i) a
(i) b, (i) a

(i) a, (i)

@]
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83-K/E (NSR / NSPR) (UNREVISED)

53. WOOBE*T DFSVETTED T, 0IRCNT F,, Levniodd BT wen’ I[IRS 80w

A 1:4 B) 3:1
€ 1:2:1 D) 9:3:3:1
The genotypic ratio obtained in F, generation of Mendel’s monohybrid

cross experiment is

A) 1:4 (B) 3:1
< 1:2:1 D) 9:3:3:1
54, TYO WD MBI BJHODLO MBI TWURT W08 Feown Srems
Sleleweby
(A) é.ram@; Slelover; (B) Q5L Fooddy
(C) BR,e00300 FOO30T (D) 30T Bocod

The metal compound to be added to the molten mixture of glass to impart
yellow colour to the glass is

(A) Cobalt compound (B) Nickel compound

(C) Chromium compound (D) Ferric compound

55.  Tp,e2eT' T3TORRS,

H H
H H H \ /
[ C
Il e B O N
H H H H” S H
H H H
| | H
(€) H-CEC-—-(lz——H (D) H—(I:—C=C<H
H H
The structural formula of propene is
H H
H H H \ /
[ C
et e N RN N7 G
P adRN
H H H H H
H H H
| | H
— P — —_— /
(C) H—-C=C (IJ H (D) H—(IZ—C—C\H
H H
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57.

58.

83-K/E (NSR / NSPR) (UNREVISED)
SR, 3,00 38,0300 T, T ©FEAIOTT
(A4)  2STROMD 8,000, LN
(B) TRRENT S O30T TWOTIESOTIN TRA GIRONT YV F oS
(C) HTBRERDNT SR FONF T, CXFTE WTBLRBT STOPIL,
(D) To&03 TOTTwNTOZT

The main feature of nuclear reaction is

(A) electrons take part in the reaction

(B) nucleus of the atom undergoes a change and new elements are
formed

(C) nucleus of the atom does not undergo any change

(D) mass is conserved

TOBEFS VRREITD Fen (V) 0B FZRNNYNTOT FoLoss

a) v =2V B) V., =J2+V,

o ]

© Vv, =2V D) Vv, =2V

e e

The relationship between escape velocity ( v, ) and orbital velocity of a

rocket is
@) v =2V B) V. =J2+V,
© Vv, =42V D) Vv, =2V

20T T, €900 TRTTORTFS &,3,0000303), FRCOATT WO TLTFOTIOBIY
TRODEY), VOB 09, 831 LVTOHTES 0B LT3 AeTIT WM

(A)  QBO3REQTE — SOREWOII (B) RpRRY - 6&;3@@?)03&)
(C) rRexoow - 6%@@035@ (D) 50 - o”&&e@om

An animal exhibits metamorphosis and does not have exoskeleton. An

example for such an animal and the class to which it belongs is
(A) Ichthyophis — Amphibia (B) Crocodile — Reptilia

(C) Chamaeleon — Reptilia (D) Tortoise — Reptilia
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83-K/E (NSR / NSPR) (UNREVISED)

59.

60.

61.

RO + WITOI0E FER, BRLOT w8y — FBoNT QLT T + ROWTT
B3 TOTICIRT 3,030030 FOTRNAT TOTICIAT FQOETTED
(A) Zn +2HCI - ZnCl,+H, (B) Zn +2HCl - ZnCl +H,

(C) Zn+HCl- ZnCl,+H, (D) 2Zn +2HCl - 2ZnCl,+ H,

Zinc + concentrated Hydrochloric acid — Zinc chloride + Hydrogen

The balanced chemical equation for this reaction is
(A) Zn +2HCl > ZnCl,+ H, (B) Zn+2HCl > ZnCl+H,

() Zn+HCl - ZnCl,+H, (D) 2Zn +2HCl —» 2ZnCl,+ H,
TR0 ATHP dzﬁﬁoﬁa@{ TRODTOT FTOWFI® xoojooﬁ YVTTTE

(A)  eTes® (B) Joes®

(C) AR, TR (D) 33ReTR, eBe

An example for a carbon compound having branched chain structure is
(A) Methane (B) Benzene

(C) Isobutane (D) Cyclopropane
BT, TYTOT 69’?@5 cﬁfaeaiwﬁaq nOTOER

2 =—0

() &SRB T, TR (B) @3W0° 0ER, €0
(C) FO3peod (D) TIOIRWEST T3[R

Identify the eye defect in the figure :

2=

(A) Astigmatism (B) Hypermetropia

(C) Myopia (D) Diabetic retinopathy
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63.

83-K/E (NSR / NSPR) (UNREVISED)
33 ToRo00T x@aesdm@@ [ATNSINEY

Fe + CuSO, — FeSO, + Cu |

Zn + FeSO, — ZnSO, + Fe |

Cu+2Ag(NO,), > Cu(NO,), +2Ag!

B4 TEFTENTI T RN 3, 00RICOZCL 007 8,60 !

(A) Ag<Fe<Cu<Zn (B) Ag<Cu<Fe<Zn
(C) Cu<Ag<Fe<Zn (D) Cu<Ag<Zn<Fe
Observe the following chemical equations :
Fe + CuSO, — FeSO, + Cu |
Zn + FeSO, — ZnSO, + Fe |
Cu+2Ag(NO,), > Cu(NO,), +2Agl
The increasing order of the reactivity of the metals in the equations is
(A) Ag<Fe<Cu<Zn (B) Ag<Cu<Fe<Zn

(C) Cu<Ag<Fe<Zn (D) Cu<Ag<Zn<Fe
Q.. z%ﬁdraeaﬁ&g{ B.%. FTRRC SN BOBSFALI SN0 LN

(A)  ReE LLOMOTND (B) 5e300F30°

(C) 3Bo0WNed (D) TPREIE YVOMOTNTD

The part(s) which is/are required to convert AC dynamo into DC dynamo

is/are
(A) Split rings (B) Armature
(C) Brushes (D) Slip rings
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83-K/E (NSR / NSPR) (UNREVISED)

64. NROY T [RTHT FPTFHID DFIANRRLOBTWTIT 0T LOTRWITINTOR

TPREW T, 69
(A) TeeEwe 39, WX (B) &FpcQFH°

(C) OO RLOTT* (D) @ odRCRQFT®

Gorilla and human ancestors are presumed to have evolved from
(A) Homo habilis (B) Australopithecus

(C) Ramapithecus (D) Dryopithecus
65. RROTIF 6:93.2{ ‘n’ AT Gﬁﬁm%%wmqﬁ TRTEO e O3 m@bﬁ?}%{ hioi]
FoowoN eﬁoﬁ% BITINO ?

(A) QOBRODIF (B) Weoos®

(C) ©oORCRTF* (D) SREIT

Which element do you choose as a dopant to make silicon an ‘n’ type
semiconductor ?

(A) Indium (B) Boron

(C) Aluminium (D) Arsenic

66.  EMDO030TY 060 WORT WITINTS), WE[RTWLO WIAD TTI
(A) RRCTTE (B) et nat

(©) Bz 0h0t D) ) 3o

The device used to detect the vehicles crossing speed limits is
(A) SONAR (B) Radar Gun

(C) Rectifier (D) Scanner
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67.

68.

69.

83-K/E (NSR / NSPR) (UNREVISED)

T25°.20.0. 0T, TR, €33,TF° 0T BNEFFOTLI 5T 503

(A) BT.QT.Q. (B) OWIF 39,078,789,

(C) pceses® ST (D) 3RYS =W

The factor responsible for classifying HIV as a retrovirus is
(A) RNA (B) Reverse transcriptase enzyme
(C) Protein wall (D) Fatty layer

20T BBENVOT FHRAT w088 FAOIX 15 km s~ 1 Bencd), 3BOS 38
BAY 4s MY &0OTONTT, TR =%

(A) 2 km (B) 6km
() 3 km (D) 4 km

An ultrasonic sound sent from a ship travels with the speed of 1.5 kms -1
to the bottom of the sea and returns in 4s. The depth of the sea is

(A) 2 km (B) 6km

() 3 km (D) 4 km

WR03FET QOO 1 PV = K & & N, TI0S WATETD A0 & v :

(Ro3ezogonsh LRNS WRRT, WFFH[Y, BROO)

(A) LY{ =K (B) m=2ZIt
K
(C) VI=K (D) r= NE

Boyle’s law : PV =K :: Graham’s law of diffusion : ..............

[ Symbols have their usual meaning |

(A) %:K (B) m = ZIt
(C) VT =K D) r =

K
Ja
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83-K/E (NSR / NSPR) (UNREVISED)

70.

71.

2,080 W 2.2 @SRRI, RORRE0T T tiner AeTmen S0ONATN
ﬁeﬁéﬁoe@amcss W30

(A) @Gﬁﬁ zﬁeﬁmgd (B) u@%ﬁ zﬁ@ﬂagd

(C) «TER, WBR, BIRTT (D) BITOPOLY,

A small AC dynamo is connected to a galvanometer and gently rotated ;
then the needle of the galvanometer

(A) moves towards left

(B) moves towards right

(C) moves towards both left and right

(D) does not move
200 BB FFOONT BTN ©FRD T ReTY, LIFOH TR Bwend =08
TR 20085 23988, B3 38000 WILOGT TREN 02 e:ad@é spleto)

(A) 50?%:% 203 IR ToRREFIT BRI B8

(B) ©380,ex0m09 3080 BRI TRArAT 080T F0T

(C) AT NYMom @08 Foos 'S 3RRD &8

(D) eI WO G TS 03000T &%

A person’s bone in hands and legs are grown disproportionately, and his

jaws and nose are protruded. The disorder he is suffering from and the

cause are

(A) Dwarfism and less secretion of growth hormone

(B) Acromegaly and excess secretion of growth hormone
(C) Simple goitre and less secretion of thyroxin

(D) Cretinism and excess secretion of thyroxin
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72.

73.

83-K/E (NSR / NSPR) (UNREVISED)

QRINTE_ O3RFTI TOTIMORE 8,030 YVTIHTEHBC), ?
(A)  BWQOT AFT ZodN0I

(B) TOQ0 WRRTINOTY)TD

(C) TOTOWOT @eﬁf%emef 30300F

(D) TEReF &otad, dm@%ﬁ SRASEY I

Which of the following is not an example for fermentation reaction ?
(A) Manufacture of sugar from sugarcane

(B) Milk turning into curd

(C) Manufacture of alcohol from molasses

(D) The raising up of dosa batter
20T YVF QOVT IRYNO® I TWOBSF S

(A)  VHIBCLOT &daézswz%g

(B) T3, 330000 033008,338
e =

(C) 03208, emawéﬁé

(D) SURBEC00T 0I708,338
€ - )

The energy conversion that takes place in a heat engine is
(A) heat energy into electrical energy

(B) electrical energy into mechanical energy

(C) mechanical energy into heat energy

(D) heat energy into mechanical energy
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83-K/E (NSR / NSPR) (UNREVISED)

74, TeRT xmé@e@m@t TOTOBLL TITEITIOT sTVPS LN

(A)  SRYZ
(B) SoTAT

(C) BIFAPT’

(D) T

~

The part of the brain that is responsible for maintaining balance of the

body is

(A) Cerebellum
(B) Cerebrum

(C) Diencephalon

(D) Pons
75. IFZT AATIRCFW UBIRNGY, BT [INEOT 008 WRY YWY
ROQCTBINHORTOI WY MITIBFEE, 53,08 $¢33,339NTVT F903

(A) BoRZZ,

(B) 33500
P x

(C) wQTTE,

(D) BRI

The remnant of supernova explosion that has huge amount of matter

compressed into a very small region of intense gravitational field is called
(A) Red giant

(B) White dwarf

(C) Proto star

(D) Black hole
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77.

83-K/E (NSR / NSPR) (UNREVISED)

ERCTRTTEITY, TRINE D0TT

(A)

(B)

(C)

(D)

SO0 WTEYT PEITITY, BLIROYTO

BT, MO0 FOTFFAQIE WWOT TS WOTDIN0T FRHD TTVHY,
FOROTYTIO

BT, IBT MPODY, BTIOT T)3BI WOTIDN0T 3R TDTHY, TRIT)T

STOOIQTOT BBOTINTTY, 83T SRTJHEY, IR0

Calcination in metallurgy refers to

(A)
(B)
(C)

(D)

increasing the desired component of the ore
heating the ore just below the melting point in the absence of air
heating the ore just below the melting point in the presence of air

removing the impurities present in the ore in the form of flux
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A technology in which a desired trait is selected and introduced directly

into a new plant variety is

(A)
(B)
(€)

(D)

Tissue culture
Hybridization
Genetic modification

Cloning
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The correct complementary base pairing with respect to DNA molecule is
(A) Adenine — Thymine ; Guanine — Cytosine
(B) Adenine — Guanine ; Thymine — Cytosine
(C) Adenine — Cytosine ; Thymine — Guanine

(D) Adenine — Cytosine ; Guanine — Cytosine

79. 3R w03 T, TEITY, TPREIFION QOIRERT BROTIT DT, QLI NY MO0
(A) TTER,BRLOT B, 85T SR
(B) ﬁ%ﬁdoﬁa 09,3369, BINT eTO
(C) TWFAT &3, mm@@# S8,
(D) FReROD0 3RETY T T9,369, T30, T AULET 09,3369
The group of electrolytes which dissociate almost in partial in their
aqueous solution is
(A) Hydrochloric acid, nitric acid
(B) Swugar solution, distilled water
(C) Carbonic acid, phosphoric acid

(D) Solution of sodium chloride, solution of copper sulphate
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In the given figure, the function of part labelled as ‘a’is

(A) Regulation of passage of water
(B) Conduction of water

(C) Regulation of passage of food
(D) Conduction of food
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